@

KORLOY TECH-NEWS - Korean

High Feed Mill Double

HFMD

(2]
=
w
<
I
O
w
[

5
(-4
Q

6 KORLOY



173
=
w
=
I
O
w
-

HFMD

Claat 22 A7t

pNi=]
oL—

T 7FEA|

o

off w2t e

o e
Lct,

L

e

5

EX|E|E CIMES} H|w

MEO=Z EfAF

olx

<o

ofu

<4

Al

Ct
=

27 xet W2 bt

W7l %

9

il
2 Alo|=ol A92

- =
= =

Xz a2

SOIA W7

=
o
AlE

o2 24t HZE

2
S

~
25

ol @zt 0|E

7k

=
o

AlZLC

Sk
S

N

KORLOY= & & 7H| ENIE &&A

ct.

U

.I

X
()

M22 1018 3+ HFMDE &

0|Z% KORLOYZ| HFMD=

Y 7t3d0lM Thl(£7)) &

Bl

~N
Klo

X0
KO
ol
R
K

—_

__o-_

oF

ECPN

I3
Bl
il

Pl

__o|_

oF

2| HFMD



Moo
s =N elay |
g A g A
\g 25 | HRMD16 { \% 25 HRMD16
ol [ | ol
Z 2.0 — 2.0
HRMD133
L S — f ‘ 15
HRMD09
1o L ) 1.0
os5f 1 . n"RMDUo Oy L) 0.5
HFM
LAl _ lEEE _ ggols
0 (mm) 0 7 fz(mm/)
@8 @16 @25 @32 @80 @315 0.5 1.0 1.5 2.0 2.5 3.0 3.5
StHF7|H
(&3 Et]
HFMD S 025 R - 4 C 25 - 180 - LNO06
HFMD 7134 g4 A9F HEOIME
025: @25mm 4.4 25: @25mm LNO6: LNMX06
Efel eusUas Az HEol
S: Shank R: Q2= F 254 W: Weldon 180: 180mm
NR: 2= | & C: Gylinder
(7€ Efel)
HFMD C M 040 R = 22 - 7 - LNO6
HFMD o= S g
M: Metric R YUz B &+ 7.7
Y e gy ERERTET HgoE
C:Cutter 040: @40mm 22: @22mm LNOB: LNMX06
([2E3] EfQ)]
HFMD M 025 R = 4 - M12 - LNO6
HFMD 72z g4 HOIE
025: @25mm 4: 44 LNOB: LNMX06
Ety Qs U An HZ LIS |5
M: Modular R Yz B &+
NR: QUE & 254

HFMD | 3



Bl 1o =
i w z
y = 3
ol H u R
or M z O
E 3 3
TR o T
TR ____M
o o =
o0 = w0
ﬁ.u_A:_H ol m%
u sE o 5
= _._I_.A;o ~ [Ho €
ol I o s £ =
T oD oy 8 =
& mn%o 3 wl._h_ @ m
S o< R Y2
mﬁ ul ® KT
K 2 q = O/ 4
K ol < mm K {0
RO | [ X
K
70
ol
|
=
oK
E
K
i
=
]
ol
mr
~O
ol
K
_IT &
il
_I._AI
3T
N
=

4| HFMD



= K
o £ oF
EU B0
A <+
o .
1 g0 <0 ol
<F o0 _ R w_w
| @ = R0 g
= T ol W;w
= ﬂ Kfo
| 1]
= =1 H0
N
mar
1o UL
=< R ox
=< a R
| 18 g o
[3
13 o =< W
=] = Ho oF
m . = .._7| RO
£ 3 = qq
o X
_ < MH o
o o o o A A
(NHe&EvE
LH
I
El
o
oT
Ll
=
ol
1|
ol
= od
) o
ok 4
< o
[} wm . ﬁm
i of & ol
DS 2o mm m_ﬂ
a4 :; 2y 0
5 By o E
an = N0 - qU K of
00 = ol R0 = ur K
o0 a X0 iiof S =)
TS s X NS
Aﬂ 0 oT ™ O_l_
PR U RU R M
K = UH_ R ©Q ©

HFMD | 5



= o =
aEEol7E 85 U 53
Eoaol7 B4t QI g £x
320 CAIIEIR | ChAIRY 70l Hatet M Hat ol 2 nae 9l
ML Ti&inconeld& | MEO=2 246t It 24 BY
MF 6 ﬁ ZIME | XA XY ESR01 AR ZRA N
~7) wo | 2UER) T0IS JKZ0| HEE BMAR ol
MM ' 28 Aol Mt
\Y;E' A 5
FHEMEA ~ fg v > e
x 28 H=eoln: e1agl o2ag v & WP Y
Al HAEA 58 geop
oy ISO HB | ME | fz ap
otz C25 oy | PC5400 | ] ] omlolel -
el SM20C | 1020 (22 120180 | 2| 100220 0312 0210 0.7D04D
ErAZ 1042 C45/CAE4 PC5400 | ] ] aml ol el -
2| swsc o a5 /oRts) 200 | eagg | 100200 0812 0210 07D-0.1D
g3 | somas0 | 4140 41CrMo4 270(28) ;%352%% 100200 0312 | 0210 070010 O ® -
P20 . PC3700
! ! : 0w - ® O
KPAM | e (12738 30032) | niggopy | 100180 0810 0208 07D-0.1D
P21 PC3700
i i i i 0w - ® O
NMAX e 37060 | nieangy | 100180 0810 0208 07D-0.1D
- P21 PC3700
malsiEz . ) 208 07D0D -  ® O
[SIEZ | CENAT (mproved) 370(40) PC5300) 100-180 | 0.3-1.0 | 0.2-0.8 |0.7D-0.1D
P21 PC3700
- - N - - - @ O
NAKBD (e 400643) | foeangy | 100180 0810 | 0208 07D-0.1D
. PC3700
R N N N - @ O
STAVAX | 420 xaooriyr | 51062 | piorig | 80150 0807 0208 07D-0.1D
#3372 | 0 | XIesowoizd o PEO00 80130 | 03085 0206 07D0.D - O @
X40CMoV5-1)*
. ., | PC5400
M AEH[QlAZ ol ! ! i 01 ® O -
1212142 | sTs316 316 scNMoi7-12-2 | 270 Ist (UNCgagy| 90180 | 0308 = 0.2:08 07D-0.1D
= [ Jp T4
31 450-10 TEo s | PC5300
' 45- 450M ! ! i 0w - ® O
eejl mm | OOD4SD 654512 oo OMO2 | osagny| 190220 | 0309 | 0210 07D0.1D
o
. - UNC840
FE R N R - ® O .
" Al incoroye0t NOSBOT e e msas | posag| 0100 0306 | 0206 04D07D
B2 Nior UNC840
- : ! ! i 07 O e .
Corl | INCOMEIT18| NOTTIB oo sag | posacn 046 0807 0206 04D-07D
. . : - UNC840
ElE GAL- i ! i 01 ® O -
[EHE | Ti-eAL-4v  RS6400 S uoss) | (posao| 00 | 0310 0206 07D01D

61 HFMD




\

10|E S+ ME Jhol=

HFMD 06 &)

- AP B

- iUz ) ME 7kS

&

HFM 04
477188
« ZA @8mm 7tE

4

Z|cH ESEAS
= sz
— HFMD 06
— HFM 04
— HRM 08
— HRMD 06
ol Ty
2= et
EIEPS
HRMD 06 HRM 08
- 2 EPEE]
coumle E ¢ & - Bl 330 712 -
xze 2015 514 7132 g ETEPS oz 5y !
HAMDO06 @ *akk B V- san - V-
HFM 04 *hhk o e # o s
HRM 08 *k B o o *hk o
HRMD 06 *hk *x done *hhk *hhk ——

HFMD | 7



Ei 7jo|=

<l

ki

A

oy

o o o
ol 5| E
& o &
o o o
o = G 2l | |
F0 I52) ™ ™ 5]
oo ) IS 3 &
Rl o o o o
mﬁ ~N
o o =
— o N
o)

K & o

(&) (&) =

o o )
0 29 328 8 %9 g9 g 99 gc°<
@ aaadsE2SLLneBd
—_
£
E| . _ — —

S o T 5 O s | s
F9%33 ¢ 222 g 8
4 T 8828 8 8 28 g <
PLA Bl Bl Bl = B s | =5 B =
T o m v LR S S v Y 8 3
meges e = FF
Rd
99 9

2888 8 8 88| 8 S
H (o R & F & I | & F & @R
= o ™| W W Q L Q| W Q (@]
3 [ORNORNGRNG] O O [ORNG] O P

F aac a o a adla x )
= _ - _ - _ - - _ _ _
w | ML o xrxr <r <r
BO | RN RURU KU |ORL|ORU|RUEL R ]
N L I N AT «r < «r
|80 81| W Ty 81 o |81 d| Bl ud

nO
4 R mm
- o 1 110-
= B ol Kk 3L
<r o =
=3 <l

i

PC5300

PC3700 @

Tor
0

PC2510 @

H X2 7ls

00

E|
[S)

H

UNC840 @

oo
R
S
~N
w0
™
S
O
o
oo
&
3
<r
Il

=]

m S

| 4= 40GPa & ZE A& Ra 0.3u

0
0

8 | HFMD



ZtXH(800x200x100)
ve(m/min) = 200, fz(mm/t) = 1.2, ap(mm) = 0.8, ae(mm) = 20, Z1Al(dry)
CIME  LNMX060310R-MF

<3
= 1 65.3min
[HFMD]

[EFAL]

ZtXH(800x200x100)
ve(m/min) = 180, fz(mm/t) = 1.0, ap(mm) = 0.8, ae(mm) = 20, 71Al(dry)
OIME  |LNMX060310R-MF

SN omin
[HFMD]

. 40.2min

[EFAL]

Z+XH(300x200x100)
ve(m/min) = 160, fzmm/t) = 1.2, ap(mm) = 0.8, ae(mm) = 20, Z14l(dry)
OIME |NMX060310R-MF

[HFMD]

EtAZH(SM45C, HB200)

E04 HFMDS032R-5C32-200-LN06 (@32, 5T)

HFMD 14400cm®

EMAL 12480cm®

0 4000 8000 12000 16000 = o o=

« 2| Bi=2F Qem®/min): 191.0
« ZkZ A Hmin): 75.4

3 Z(SCM440, HB250)

E0 HFMDS032R-5C32-200-LN06 (@32, 5T)

HFMD 6720cm®

{cm?®)

EMF 5760cm®
0 2000 4000 6000 8006 3 3 BEZem’)
« 2 HIEZF Qem®/min): 143.2

H
* 7tEAIZHmin): 46.9

Z2|SIEZ(KPAM, HRC30)

=0 HFMDS032R-5C32-200-LN06 (@32, 5T)

HFMD 4800cm’®

ERA} 3840cm®
0 2000 4000 6000 % % thEZ(on’)
« 2| Hi=2F Qem®/min): 152.8

H
SAlZHmin): 31.4

\J

t

15%
By

17%

At

25%

SFAL
So

HFMD | 9



-

B

ol 3la|x

=~

s

BA IS

Lmin

Direction

—_————

ap

Lmin =

ap

tan o

X Lmin: 7k5 20|

o HIIS Tks BAE

ap  EYUHO|

(mm)

2t
=

d2E s

g — pitch

£ pitch

« JAEF0ISHZ = Tool Path, mm) = @DHmIN, max — @D

(mm)
HA KB atsl 2 Yalz 7kE £2 7% YalE 72
g 5% T o 2 7427 22 7127 54 7127
S i HHPBE gy BLIEE gy gxy AETEE g
HFMDS016 16 0.7 3.0 13 30 0.7 22 0.7 21 0.7
HFMDS017 17 1.0 2.3 25 32 1.0 24 1.0 22 1.0
HFMDS018 18 1.0 2.1 27 34 1.0 26 1.0 24 1.0
HFMDS019 19 1.0 1.9 30 36 1.0 28 1.0 26 1.0
HFMDS020 20 1.0 1.5 37 38 1.0 30 1.0 28 1.0
HFMDS021 21 1.0 1.5 39 40 1.0 32 1.0 30 1.0
HFMDS025 25 1.0 14 40 48 1.0 40 1.0 38 1.0
HFMDS026 26 1.0 1.4 42 50 1.0 42 1.0 40 1.0
HFMDS030 30 1.0 1.1 51 58 1.0 50 1.0 48 1.0
HFMDS032 32 1.0 1.0 55 62 1.0 54 1.0 52 1.0
HFMDS033 33 1.0 1.0 57 64 1.0 56 1.0 54 1.0
HFMDS035 35 1.0 0.9 61 68 1.0 60 1.0 58 1.0
HFMDS040 40 1.0 0.8 71 78 1.0 70 1.0 68 1.0
HFMDC042 42 1.0 0.8 76 82 1.0 74 1.0 72 1.0
HFMDCO050 50 1.0 0.6 92 98 1.0 90 1.0 88 1.0
HFMDC052 52 1.0 0.6 96 102 1.0 94 1.0 92 1.0
HFMDC063 63 1.0 0.5 119 124 1.0 116 1.0 114 1.0
HFMDCO066 66 1.0 0.5 126 130 1.0 122 1.0 120 1.0

< QA RS 2 |2 TR Aole T BE AR
< Aol 7t5 Al Z|oh TR [(dmax)E ZlC]

L BA B N BYS 5

10 | HFMD

Ici E2l(ap) Olst= A ect

!
1S
o)
o
=3
o

OllAf 70% 0[5t2 H0IZ 0l&vilmm/min)g St
(= AEELCE

of 2Rt



\

I R7IS Al 2 Algt

.
“L//\(,/g ;

4R

(mm)
2=
ol zzay e ETC T v
== AR Nose  Z|CHEY (Over Cut) | (Remains)
R ap
R15 0 0.41
LNMX060310R-ML -
LNMX060310R-MF | > | 10 10 0 0.38
LNMX060310R-MM, (Standard)
R2.0 0.057 0.27
CNC Z273 XM Al 2t QIWEN SH= m=2J2 Al R 22 UsisiH IYrtE
SR10f Yt 22 THAEF & THAEFO| SR T

Lo CNC 22 Ai40| ZeglLc),

- MRS YRI5 | YleiAe 47| TS
------ R2.0 ---—- R16 - R15
CIME
(mm)
e x|
=L =13 S 8 8 8 ¢ £
[} < ™ N~ n
(8} T I15) ) N | d t r
= O o0 O o
S a o a a
d r t
CATHEE
ML - ® ) ) - - 10 68 | 36 | 1
Ti & inconel& )
d _r _t_
LNMX060310R = MF HEAE e e e e o 10 68 36| 1 E} @
d r t
MM He - ) ) ) ® | 10 | 68 36 1 | S @
o {1 2| S
\-u:n:
T=E
A38 x|
HIim
H8B7EH o P
016~066 FTNAO306 TWO09S

HFMD | 11



HFMDS-LNO06

QD] =8 ot od
(e
N
2
L
’ 4 L/ | “\‘\Q N S - NP - SusE AN 00
> =2 ¢ s -
& &l Iz © oD ad 0 L ap i
HFMDS  016R-2C16-100-LN0O6 = @ 2 16 16 30 100 0.7 0.13
016R-2C16-150-LN06 | ® 2 16 16 50 150 0.7 0.19
017R-2C16-100-LN06 [ J 2 17 16 30 100 1.0 0.13
017R-2C16-150-LN06 | @ 2 17 16 40 150 10 0.20
017R-2C16-200-LN06 2 17 16 40 200 10 027
018R-2C16-100-LN06 2 18 16 40 100 10 0.14
018R-2C16-160-LN06 2 18 16 40 160 10 0.18
018R-2C16-200-LN06 2 18 16 40 200 1.0 0.28
019R-2C16-100-LN06 2 19 16 40 100 10 0.15
019R-2C16-160-LN06 2 19 16 40 160 10 0.19
019R-2C16-200-LN06 2 19 16 40 200 1.0 0.29
020R-3C20-100-LN06 3 20 20 40 100 10 0.20
020R-3C20-130-LN06 | @ 3 20 20 50 130 1.0 0.26
020R-3C20-160-LN06 3 20 20 80 160 1.0 0.31
020R-3C20-200-LN06 | ® 3 20 20 120 200 1.0 0.40
Mz el g
HEOME
LNMX-ML LNMX-MF LNMX-MM
E|
gu —
UNC840 PC5400 PC5300 PC3700 PC2510
060310R-ML ° ° ° ) )
LNMX 060310R-MF ° ° ° ° °
060310R-MM - ° ° ° °
]2
o x|
—~— TEOo
H8I 7L A
216~040 FTNAO306 TWO09S

12 | HFMD



HFMDS-LNO06

Y ~l od
1 (e
e
L
¢ =rzame
- BIZE HAZE 1015 (mm)
g p{} © 2D ad ] L ap @\
HFMDS  021R-3C20-100-LN06 3 21 20 30 100 1.0 0.21
021R-3C20-130-LN06 3 21 20 40 180 1.0 0.27
021R-3C20-160-LN06 | @ 3 21 20 40 160 10 0.34
021R-3C20-200-LN06 | ® 3 21 20 40 200 10 0.42
025R-4C25-100-LN06 4 25 25 40 100 1.0 0.33
025R-4C25-140-LN06 | ® 4 25 25 60 140 10 0.46
025R-4C25-180-LN06 | ® 4 25 25 100 180 1.0 0.58
025R-4C25-250-LN06 4 25 25 160 250 10 0.67
026R-4C25-100-LN06 4 26 25 30 100 10 0.34
026R-4C25-140-LNO6 4 26 25 40 140 1.0 0.48
026R-4C25-180-LNO6 | ® 4 2 25 40 180 10 0.63
026R-4C25-250-LNO6 | ® 4 26 25 40 250 1.0 0.72
032R-5C32-150-LNO6 | @ 5 32 32 70 150 1.0 0.82
032R-5C32-200-LNO6 | @ 5 32 32 120 200 10 1.08
032R-5C32-250-LNO6 5 32 32 160 250 1.0 1.20
033R-5C32-150-LN06 5 33 32 40 160 1.0 0.82
033R-5C32-200-LN06 | @ 5 33 32 40 200 1.0 1.08
033R-5C32-250-LNO6 | @ 5 33 32 40 250 1.0 1.20
035R-5C32-150-LN06 5 35 32 40 160 10 0.87
035R-5C32-200-LN06 5 35 32 40 200 1.0 1.13
035R-5C32-250-LN06 5 35 32 40 250 10 125
040R-6C32-150-LNO6 6 40 32 40 160 10 0.97
040R-6C32-200-LNO6 6 40 32 40 200 1.0 1.28
040R-6C32-250-LNO6 6 40 32 40 250 1.0 1.38

HEME
LNMX-ML LNMX-MF LNMX-MM
3E|
=L =
UNC840 PC5400 PC5300 PC3700 PC2510
060310R-ML (] [ ] ] - -
LNMX 060310R-MF [ ] [ ] (] [ [
060310R-MM - (] (] [ ()
g2E
— s PEE 2%
ugzazy P A
216~040 FTNAO306 TW09S

HFMD | 13



HFMDCM-LNO06

ad
(R
bI ‘
e |
L \,
LY
H o | il
@d2 ?
‘ @D
’ e “\‘\Q N I SR WS FAE 90
PSS = AN -
g Mz | O ©D ©OD2 Od @di @d2 a b E | F | ap
HFMDCM 032R-16-5-LN06 5 | 32 | 3 | 16| 9 | 135| 84 | 56 | 19 | 40 | 1.0 | 012
040R-16-6-LN06 ® | 6 |4 |34 | 16| 9 | 14| 84|56 | 19 | 4 | 10 | 021
050R-22-6-LN06 6 | 50 | 42 | 2 | 11 | 18 104 63 | 21 | 40 | 10 | 032
050R-22-7-LN06 7 | 50 | 42 | 2 | 11 | 18 104 63 | 21 | 40 | 10 | 032
050R-22-8-LN06 [ ] 8 50 42 22 11 18 104 6.3 21 40 1.0 0.32
052R-22-7-LN06 7 52 42 22 11 18 104 6.3 21 40 1.0 0.34
052R-22-8-LN06 8 52 42 22 1 18 104 6.3 21 40 1.0 0.34
063R-22-8-LN06 8 | 63 | 49 | 2 | 11 | 18 | 104 | 63 | 21 | 40 | 10 | 053
063R-22-9-LN06 ® | 9 | 63 | 49 | 22 | 11 | 18 |104]| 63 | 21 | 4 | 10 | 053
066R-22-8-LN06 8 | 66 | 49 | 22 | 11 | 18 | 104 63 | 21 | 40 | 10 | 057
066R-22-9-LN06 9 | 66 | 4 | 22 | 11 | 18 104 63 | 21 | 40 | 10 | 057
o xim Zi| Y
H2OIWE
LNMX-ML LNMX-MF LNMX-MM
|
o =2
UNC840 PC5400 PC5300 PC3700 PC2510
060310R-ML ° ° ° - -
LNMX 060310R-MF ° ° ° ° °
060310R-MM - ° ° ° °
7=
o o A3g BN
— TEO
HgzxH P P
032~066 FTNAO306 TWO09S

14 | HFMD



HFMDM-LNO6

M
pd
= === odi| &d
L
(mm)
| Mo | © oD od od1 0 L M ap [
HFMDM 016R-2-M08-LN06 ° 2 16 145 85 25 42 MO8 0.7 0.03
017R-2-M08-LN06 [} 2 17 145 85 25 42 M08 1.0 0.03
018R-2-M08-LN06 2 18 145 85 25 42 M08 1.0 0.04
019R-2-M08-LN06 2 19 145 85 25 42 MO8 1.0 0.05
020R-3-M10-LNO6 [ J 3 20 18 105 30 51 M10 1.0 0.06
021R-3-M10-LNO6 [ J 3 21 18 105 30 51 M10 1.0 0.07
025R-4-M12-LN0O6 [ J 4 25 23 125 35 59 M12 1.0 0.10
026R-4-M12-LN06 4 26 23 12.5 35 59 M12 1.0 0.10
032R-5-M16-LN06 [} 5 32 29 17 40 67 M16 1.0 0.20
033R-5-M16-LN06 5 33 29 17 40 67 M16 1.0 0.20
035R-5-M16-LN06 5 35 29 17 40 67 M16 1.0 0.21
040R-6-M16-LN0O6 6 40 29 17 40 67 M16 1.0 0.24
042R-6-M16-LN06 6 42 29 17 40 67 M16 1.0 0.25
o: X1 22| S
HZolE
LNMX-ML LNMX-MF LNMX-MM
|
& v —
UNC840 PC5400 PC5300 PC3700 PC2510
060310R-ML ° ° ° : -
LNMX 060310R-MF [ ] [ J [ ] o [ ]
060310R-MM - [ J [ J o [ ]
2=
T o 238 2|
216~042 FTNAO306 TWO09S

HFMD | 15



20 | oar| | — P ————ad @D | goi —— e g 11,
i ~X T
M M
0 !
L L
mER| a7 2
(mm)
gH b\ ik oD ad Qd1 [] L M =]
MAT- MO06-020-S10S [ ] 9.5 10 6.5 20 70 MO06 1
M06-040-S12T [ 9.5 12 6.5 40 96 MO6 2
MO06-065-S16T [ 9.5 16 6.5 65 125 MO6 2
M6B-020-S12S [ 11.0 12 6.5 20 76 MO6 1
M6B-040-S12S [} 1.0 12 6.5 40 96 M06 1
M6B-065-S16T [ 11.0 16 6.5 65 125 MO6 2
M6B-080-S16T [ J 11.0 16 6.5 80 140 M06 2
MO08-020-S16S [ J 14.5 16 8.5 20 80 M08 1
MO08-040-S16T [ 14.5 16 8.5 40 100 MO8 2
MO08-065-S16T [ J 14.5 16 8.5 65 125 MO8 2
MO08-080-S20T [ J 14.5 20 8.5 80 150 M08 2
MO08-110-S25T [ J 14.5 25 8.5 110 190 MO8 2
M10-030-S20S [ J 18.0 20 10.5 30 100 M10 1
M10-050-S20T [ 18.0 20 10.5 50 120 M10 2
M10-070-S20T [ J 18.0 20 10.5 70 140 M10 2
M10-090-S25T [ J 18.0 25 10.5 90 170 M10 2
M10-110-S25T [ J 18.0 25 10.5 110 190 M10 2
M10-130-S32T [ J 18.0 32 10.5 130 220 M10 2
M12-030-S25S [ 22.5 25 12.5 29 110 M12 1
M12-050-S25T [ 22.5 25 12.5 50 130 M12 2
M12-070-S25T [ 22.5 25 12.5 70 150 M12 2
M12-090-S25T [ ] 22.5 25 12.5 90 170 M12 2
M12-110-S32T [ J 22.5 32 12.5 110 200 M12 2
M12-175-S40T [ 225 40 12.5 175 300 M12 2
M16-035-S32S [ ] 28.5 32 17.0 35 125 M16 1
M16-055-S32T [ 28.5 32 17.0 55 145 M16 2
M16-080-S32T [ 28.5 32 17.0 80 170 M16 2
M16-120-S32T [ 28.5 32 17.0 120 210 M16 2
M16-175-S40T [ 28.5 40 17.0 175 300 M16 2

* 31 AEY|0|EH] OIEE

16 | HFMD

* T Eflo]m4! OfEfE

hd
=)
3]

i
o

og

rE



MAT-C(ZZ43)
@D |@ar | JIE— FPF* s 7 70 I Y [ [ F\V?F* e WO
i YANNNY j N
M
¢ |
L L
a7 g2
(mm)
dH pyini oD ad Qd1 [} L M ozl
MAT- MO06-030-S10S-C-80 9.5 10 6.5 30 80 MO06 1
MO06-050-S10S-C-100 9.5 10 6.5 50 100 MO06 1
M06-080-S10S-C-130 9.5 10 6.5 80 130 MO6 1
M6B-030-S12S-C-80 11 12 6.5 30 80 MO6 1
M6B-050-S12S-C-100 1Al 12 6.5 50 100 MO06 1
M6B-080-S12S-C-130 11 12 6.5 80 130 MO06 1
MO08-080-S16S-C [} 14.5 16 8.5 80 150 MO8 1
MO08-110-S16S-C [} 14.5 16 8.5 110 180 MO8 1
MO08-150-S16S-C 14.5 16 85 150 250 M08 1
MO08-010-S16S-C-150 14.5 16 85 10 150 MO8 2
MO08-010-S16S-C-180 14.5 16 8.5 10 180 MO8 2
MO08-010-S16S-C-250 14.5 16 85 10 250 MO8 2
M10-090-S20S-C [ 18 20 10.5 90 170 M10 1
M10-110-S20S-C [ J 18 20 10.5 110 200 M10 1
M10-175-S20S-C 18 20 10.5 175 300 M10 1
M10-010-S20S-C-170 [ ] 18 20 10.5 10 170 M10 2
M10-010-S20S-C-200 18 20 10.5 10 200 M10 2
M10-010-S20S-C-300 18 20 10.5 10 300 M10 2
M12-090-S25S-C [ 22.5 25 125 90 170 M12 1
M12-110-S25S-C 22.5 25 12.5 110 200 M12 1
M12-175-S25S-C 22.5 25 125 175 300 M12 1
M12-015-S25S-C-170 22.5 25 12.5 15 170 M12 2
M12-015-S25S-C-200 22.5 25 12.5 15 200 M12 2
M12-015-S25S-C-300 22.5 25 12.5 15 300 M12 2
M16-090-S32S-C [ 28.5 32 17 90 180 M16 1
M16-120-S32S-C 28.5 32 17 120 210 M16 1
M16-175-S32S-C 28.5 32 17 175 300 M16 1
M16-020-S32S-C-180 28.5 32 17 20 180 M16 2
M16-020-S32S-C-210 28.5 32 17 20 210 M16 2

*S: AER{O|EY OFEEl  * T: H|O|HUY OFEH

5]

e

o
T

HFMD | 17



BT30/BT40/BT50

@Ds

@D2

@D1

@D |@di- 1

(mm)
R Mz | @D @D1 oD2 oD3 @d1 01 02 L M
BT30- MAT-M06-053 11 1.7 13 30 6.5 5 21 53 M06*1.0
MAT-M08-057 14.5 15.7 17.5 35 8.5 7 25 57 | M08"1.25
MAT-M10-062 18 19.7 24 38 10.5 7 30 62 M101.5
MAT-M12-067 23 247 275 41 12.5 10 35 67 |M121.75
MAT-M16-067 29 31.7 335 41 17 10 35 67 M16*2.0
BT40- MAT-M06-062 11 1.7 14 40 6.5 5 25 62 M06*1.0
MAT-M06-077 11 1.7 14 40 6.5 5 40 77 M06*1.0
MAT-M06-092 11 1.7 14 40 6.5 5 55 92 M06*1.0
MAT-M08-067 14.5 15.7 19 44 85 7 30 67 | M081.25
MAT-M08-082 14.5 15.7 19 44 85 7 45 82 | M08*1.25
MAT-M08-097 14.5 15.7 19 44 85 7 60 97 | M08*1.25
MAT-M10-072 18 19.7 23 50 10.5 10 35 72 M101.5
MAT-M10-087 18 19.7 23 50 10.5 10 50 87 M10*1.5
MAT-M10-102 18 19.7 23 50 10.5 10 65 102 | M10*1.5
MAT-M12-077 23 24.7 30 55 125 10 40 77 |M1271.75
MAT-M12-092 23 24.7 30 55 12.5 13 55 92 |M121.75
MAT-M12-107 23 247 30 55 12.5 13 70 107 | M121.75
MAT-M16-077 29 31.7 37 55 17 13 40 77 M16*2.0
MAT-M16-092 29 31.7 37 55 17 13 55 92 M16*2.0
MAT-M16-107 29 317 37 55 17 13 70 107 | M16%2.0
BT50- MAT-M06-083 11 1.7 15 40 6.5 5 35 83 M06*1.0
MAT-M06-098 11 1.7 15 40 6.5 5 50 98 M06*1.0
MAT-M06-113 11 1.7 15 40 6.5 5 65 113 | M06*1.0
MAT-M08-088 14.5 15.7 20 45 8.5 7 40 88 | M08*1.25
MAT-M08-103 14.5 15.7 20 45 8.5 7 55 103 | M08*1.25
MAT-M08-118 145 15.7 20 45 8.5 7 70 118 | M08*1.25
MAT-M10-093 18 19.7 25 55 10.5 10 45 93 M10*1.5
MAT-M10-113 18 19.7 25 55 10.5 10 65 113 | M10"1.5
MAT-M10-128 18 19.7 25 55 10.5 10 80 128 | M10"1.5
MAT-M12-103 23 24.7 33 65 12.5 10 55 103 |M1271.75
MAT-M12-118 23 247 33 65 12.5 13 70 118 | M121.75
MAT-M12-133 23 24.7 33 65 12,5 13 85 133 |M1271.75
MAT-M16-103 29 31.7 41 85 17 13 55 103 | M16%2.0
MAT-M16-118 29 31.7 41 85 17 13 70 118 | M16%2.0
MAT-M16-133 29 317 49 85 17 13 85 133 | M1672.0

18 | HFMD

DT e



HSK63A / HSK100A

@Ds|@D2| @D1| @D tadwE}iE; 7‘:“% s
0
[
L
(mm)
aH M | oD D1 oD2 oD3 d1 0 02 L M
HSK63A- MAT-M06-061 11 1.7 27 40 6.5 5 25 61 M06*1.0
MAT-M06-076 11 1.7 27 40 6.5 ® 40 76 MO06*1.0
MAT-M06-091 11 1.7 27 40 6.5 5 55 91 M06*1.0
MAT-M08-066 14.5 156.7 30.5 44 8.5 7 30 66 M08*1.25
MAT-M08-081 145 15.7 30.5 44 8.5 7 45 81 M08*1.25
MAT-M08-096 14.5 16.7 30.5 44 8.5 7 60 96 M08*1.25
MAT-M10-071 18 19.7 34 50 105 10 35 71 M10*1.5
MAT-M10-086 18 19.7 34 50 105 10 50 86 M10*1.5
MAT-M10-101 18 19.7 34 50 105 10 65 101 M10*1.5
MAT-M12-076 23 24.7 36.5 55 125 10 40 76 M12*1.75
MAT-M12-091 23 24.7 36.5 55 125 13 55 91 M12*1.75
MAT-M12-106 23 24.7 36.5 55 12.5 13 70 106 M12*1.75
MAT-M16-076 29 31.7 38.5 55 17 13 40 76 M16"2.0
MAT-M16-091 29 31.7 38.5 59 17 13 59 91 M16*2.0
MAT-M16-106 29 31.7 385 55 17 13 70 106 M16*2.0
HSK100A- MAT-M06-074 11 1.7 15 40 6.5 5 35 74 MO06*1.0
MAT-M06-089 11 1.7 156 40 6.5 5 50 89 M06*1.0
MAT-M06-104 11 1.7 15 40 6.5 5 65 104 M06*1.0
MAT-M08-079 14.5 16.7 20 45 8.5 7 40 79 M08*1.25
MAT-M08-094 145 16.7 20 45 85 7 59 94 M08*1.25
MAT-M08-109 14.5 15.7 20 45 8.5 7 70 109 M08*1.25
MAT-M10-084 18 19.7 25 58 10.5 10 45 84 M10*1.5
MAT-M10-104 18 19.7 25 55 105 10 65 104 M10*1.5
MAT-M10-119 18 19.7 25 55) 105 10 80 119 M10*1.5
MAT-M12-094 23 24.7 33 65 125 10 55 94 M12*1.75
MAT-M12-109 23 24.7 33 65 12.5 13 70 109 M12*1.75
MAT-M12-124 23 24.7 33 65 125 13 85 124 M12*1.75
MAT-M16-094 29 31.7 4 85 17 13 58 94 M16*2.0
MAT-M16-109 29 31.7 4 85 17 13 70 109 M162.0
MAT-M16-124 29 31.7 4 85 17 13 85 124 M16*2.0
o T{u ol

HFMD | 19



www.korloy.com

(o
ol
10
fl
=,

- 2441 080-333-0989 korloytec@korloy.com - 7|&2ZZt 080-333-0909 koredu@korloy.com

2 A Tel : (02) 521-4700 MEGHA  Tel : (02) 2614-2366 H7EYPA  Tel : (053) 604-0863
¥x3 % Tel : (043) 262-0141 ZolEAA  Tel: (02) 2619-2581 SMIHA  Tel : (052) 273-6670
ST Tel : (043) 535-0141 SEAAL  Tel: (041) 425-2366 BMAAL  Tel: (051) 326-2215
MAT|SHTA(HF) Tel : (043) 262-0141 SHIAAHA  Tel: (063) 837-0817 ARHEAAL  Tel : (055) 241-1227
MAMT|SHTA(ME) Tel : (02) 521-4700 LFARA  Tel: (062) 432-8374 ZGHARA  Tel : (055) 336-9772
ME2ses Tel : (02) 2069-3078

| TN74-KR-01/20190810 |




